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COSMOS: Complete Online Solutions Manual Organization System

Chapter 8, Solution 9.

(a) Size of investment in Y = 50,000 — 20,000
=$30,000

(b) 30,000(i) + 20,000(0.15) = 50,000(0.40)
i=56.7%

Engineering Economy, 6th Edition Leland Blank, Anthony Tarquin
©2005 The McGraw Hill Companies.



COSMOS: Complete Online Solutions Manual Organization System

Chapter 8, Solution 10.

Year Machine A Machine B B-A
0 -15,000 -25,000 -10,000
1 -1,600 -400 +1200
2 -1600 -400 +1200
3 -15,000 —1600 + 3000 -400 +13,200
4 -1600 -400 +1200
5 -1600 -400 +1200
6 +3000 —-1600 +6000 — 400 +4200

Engineering Economy, 6th Edition Leland Blank, Anthony Tarquin
©2005 The McGraw Hill Companies.



COSMOS: Complete Online Solutions Manual Organization System e

Chapter 8, Solution 16.
0=-10,000 + 1200(P/A.,i,4) + 12,000(P/F,i,2) + 1000(P/F,i,4)
Solve for i by trial and error or Excel

1=30.3% (Excel)
Select machine B.

Engineering Economy, 6th Edition Leland Blank, Anthony Tarquin
©2005 The McGraw Hill Companies.
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COSMOS: Complete Online Solutions Manual Organization System

Chapter 8, Solution 29.
Rank alternatives according to increasing initial cost: 2,1,3,5,4

1 vs2: 0=-3000(A/P,i,5) + 1500
(A/P,1,5) = 0.5000
1i=41.0% (Excel)

Eliminate 2

3 vsl: 0 =-3500(A/P,i,5) + 1000
(A/P,i,5)=0.2857
i=13.2% (Excel)

Eliminate 3

5vs 1: 0=-10,000(A/P,i,5) + 2500
(A/P,i,5) = 0.2500
i=7.9% (Excel)
Eliminate 5

4 vsl: 0 =-17,000(A/P,i,5) + 6000
(A/P,i,5)=0.3529
i=22.5% (Excel)

Eliminate 1

Select machine 4

Engineering Economy, 6th Edition Leland Blank, Anthony Tarquin
©2005 The McGraw Hill Companies.



